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WRITTEN TEST(OBJECTIVE TYPE) FOR DIRECT RECRUITMENT OF COURT MANAGERS
PAPER-II

Duration: 45 Minutes Attempt all questions

Total Marks: 50 All questions carry equal marks

1. The Constitution of India came into force on
A) 26 January 1950 B) 15" August 1947 C) 30" January 1950 D) 9™ August 1942

2. Who was the first woman judge to be appointed Chief Justice of a High Court.

A) Justice Smt. Gyan Sudha Misra B) Justice smt M Fathima Beevi C) Justice Smt. Leila Seth D)
Justice Smt. Ranjana Desal.

3. Which is the oldest High Court in India

A. High Court of Madras B) High Court of Calcutta C) High Court of Bombay D) High Court of
Allahabad

4. The age of retirement of a High Court Judge in India is
A) 62 B) 60 D) 58 D) 65

5. Which of the following is entrusted with a statutory duty of laying down the stand§rds of
professional conduct and etiquette for advocate in India.

A) Supreme Court of India B) Bar association of India C) Bar Council of India D) North East Bar
Council. |

6. Aftorney General of India is the

A) Chief Military officer B) Chief Naval Officer C) Chief Law Officer D) None of the above.
/. Right to Freedom of Speech is a

A) Fundamental Right B) Statutory Right C) Directive Principle D) None of the above.

8. IPC means

A) Indian Penal Code B) Indian Postal Code C) Indian Police Code D) None of the above.

9. Rule of Law means

A. All persons are equal in the eyes of law.
B. Treating all unequals as equals.
C. Working according to law.

D. Distributing state largesse to everyone in equal proportion.
10. Information Technology Act was enacted in the year

A) 2000 B) 2002 C) 2001 D)2011.
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INSTRUCTIONS

Some proverbs/idioms are given below together with their meanings. Choose the correct meaning
of proverb/idiom.

11. To make clean breast of
A. TO gain prominence

B. To praise oneself
C. To confess without reserve
D. To destroy before it blooms

12. To keeps one's temper
A.To become hungry - B.To be in good mood

C.To preserve ones energy D. To be aloof from

13. To drive home
|

A, To find one's roots "B. To return to place of rest
| .

!'C. Back to original position " D. To emphasise

14. To cry wolf

A. To listen eagerly B. To give false alarm

C. To turn pale D. To keep off starvation

15. To end in smoke
A. To make completely understand

B. To ruin oneself

C. To excite great applause

D. To overcome someone

INSTRUCTIONS

Which of phrases given below each sentence should replace the phrase printed in bold type to
make the sentence grammatically correct?

16. The small child does whatever his father was done.

A. has done B. did
C. does ' D.had done

17. You need not come unless you want to.
A.You don't need to come unless you want to

B.You come only when you want to

C.You come unless you don't want to

D.You needn't come until you don't want to
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18. They were all shocked at his failure in the competition.

A.were shocked at all B.had all shocked at

C.had all shocked by _ D.No Correction required

19. He is too important for tolerating any delay.

A.to tolerate | B.to tolerating
C.at tolerating D.with tolerating
20. The performance of our players was rather worst than I had expected.
A.bad as I had expected B.warse than I had expected
C.worse than expectation D.worst than was expected
INSTRUCTIONS

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence. |

21. Extreme old age when a man behaves like a fool

A. Imbecility B. Senility C. Dotage D. Superannuation
22. That which cannot be corrected

A. UninteHigib!e B. Indelible C. Illegible D. Incorrigible
23. A person who insists on something

A. Disciplinarién B. Stickler C. Instantaneous D. Boaster
24. State in which the few govern the many

A. Monarchy B. Oligarchy C. Plutocracy D. Autocracy

25. A person who knows many foreign languages

A. Linguist B. Grammarian C. Polyglot D. Bilingual
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INSTRUCTIONS

In questions given below, a part of the sentence is italicised and underlined. Beiow are given
alternatives to the italicized part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, option 'D' is the answer.

26. The workers are fell bent at getting what is due to them.

~A. hell bent on getting B. hell bent for getting C. hell bent upon getting D. No improvemeni:

27. When it was feared that the serfs might go too far and gain their freedom from serfdom, the
protestant leaders joined the princes gt crushing them.

A. into crushing B. in crushing C. without crushing D. No improvement

28. If the room had been brighter, I would have been able to read for a while before bed time.

A. If the room was brighter B. If the room are brighter C. Had the room been brighter D. No
Improvement

29. His powerful desire brought about his downfall,

A. His intense desire B. His desire for power C. His fatal desire D. No improvement

30. He sent a word to me that he would be coming late.

A. sent word B. had sent a word C. sent words D. No improvement

31. E-Granthalaya is

A) A library automation sortware B) A Electronic book, C) A internet Virus D) None of them

32. The system of competitive examination for civil service was accepted in principle in the year

A. 1833 B. 1853 C. 1858 D. 1882

33. Amnesty International is an organisation associated with which of the following fields?

A. Protection of Cruelty to animals B. Environment protection C. Protection of human rights D.
Protection of historic monuments

34. The Paithan (Jayakwadi) Hydro-electric project, completed with the help of Japan, is on the
river

A, Ganga Cauvery

C. Narmada Godavari
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35. The ratio of width of our National flag to its length is
A, 35 Z. 213

PR
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L. 2:4 P. 3:4

36. Dandia' is a popular dance of

M, Punjab
. Gujarat
.  Tamil Nadu

. Maharashtra

S

37. The words 'Satyameva Jayate' inscribed below the base plate of the emblem of India are taken
rrom

8.  Rigveda

"y

5. Satpath Brahmana
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Mundak Upanishad

]
| T—

-
—
h
e
- |

Ramayana

38. Name the England Cricket Captain who became the youngest Batsman to score 7000 Runs

(A) Alastair Cook

(B) Kevin Peitersen
(C) Daniel Vettor
(D) Andrew Strauss

39. Which team on December 15, 2012 won the 3rd World Cup Kabaddi Tournament for the third
consecutive time in the Men's category and second consecutive time in the Women's category?

A India

B Pakistan
C Australia
D England

40. A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the
grain? ' '

A. 120 metres &, 180 metres

C. 324 metres D. 150 metres

41.Alfred buys an old scooter for Rs. 4700 and spends Rs. 800
on its repairs. If he sells the scooter for Rs. 5800, his gain
percent Is:
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4 5
0 0
A 4 “% , B. 2 0
_ / _ 11
C. 10% ' D, 12%

42. 3,5,11,14,17, 21
21 B, 1/

b

C. 14 - D, 3

43, It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 20107
A. Sunday E. Saturday

|

C. Friday 2. Wednesday

44, A bat‘sman scored 110 runs which included 3 boundaries and 8 sixes. What percent of his total
score did he make by running between the wickets?

5
’ ' 45 %
. 45¢ B. —
A. 5% B. .
6
11

45. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. The
sum Is:

A. Rs. 650 2, Rs. 690

es————— p———

C. Rs. 698 T2, Rs. 700

i A

46. In order to obtain an income of Rs. 650 from 10% stock at Rs. 96, one must make an
investment of:

A. Rs. 3100 - 3. Rs. 6240

—
L]

3

C. Rs. 6500 0. Rs. 9600
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47 A can do a work in 15 days and B in 20 days If the\/ work on it together for 4 days, then the _
fraction of the work that is left is : .

1 .
4 - i B

' 10
’ 3

48. If one-third of ohe-fourth of a number is 15, theh three-tenth of that number is:

v . L .
TS :.:‘..'-_'I:_

£ o 3 5 : . 3

r"l-""'.l . -_"' "Tr

R woio

e rd kg PR

49. An error 2% in excess is made while measuring the side

of a square. The percentage of error in the calculated area of
the square is: '

2% G 2.02%
4% ' . 4.04%

50. 3/7%9/14+5/7=

(M) 27/70 (B)13/35 (C) 17/70 (D) 12/35

*******x************ﬁx****



